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| )S]’cculﬂ“"n is cqu ent to gamp|; liy
1. (a : - 8 Do yoy
agre® _
ities are subject to Sy st
uA]l Sccull { d emat' O
® you 8 agree? Justify. | ¢ risk.” Do
between SE 3

- (a) State investment decision process What facto.rs

investor c
should an / Onslder whlle makmg
mvestment de0131ons .

(b) The followmg two secur 1t1es have been shorthsted
by an investor ‘A’ —

Probability - Sccz);:;yx . Sec?";:;yY
05 . 4 0
04 - - ; LT | 3

0.1 oy -0 . | 3

Wthh securlty should be selected and why‘?
| (7+8)
© 2. (a) An inVEStOr’purchases a bond thse face value is

31,000, , Maturity period is 5 years and the coupon
rate of i Interest ig 7%. The required return is 8%.

- What shoy)q he be willing to pay nowW to purchase

the bong if* it matures. at par?
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(®) Explaip the concept of Callable bonds and Puttable
bongs.

(©) Beta Ltd. comes out with a scheme which specifies

that “Deposit 315,000 now and receives 31,000

P-2. at the end of every year for next 5 years
along with 315,000 at the 5% year.” Should the
scheme be accepted by an investor if the required

rate of return is 12%2? . (5+5+5)

Or
(2) What are the various risks in bonds? Explain.

- (b) Information is ayéi_lable_ in respect of a bond :
| Face V;alue — %1,000
| 'Coupoﬁ_ rate — 8%
Time to maturity — ;0 years
Market Price — ¥1,140
Callable in 6 years al 21100-

Find out YTM and YTC of the. bOnd. (use
interpolation method) N (7+8)

P.T.O.
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' (a) Explain Technical a'nalysis.bl«lo
3, . .

b . I8 i ..
from fundmncntal analygjg9 it different

(- The coefficient O correlatign
Clwe
and Sensex i8 0.98. The expe ed te °en stock A
u
A and Sensex are 16% ang 13 5., el
reg
The return on treasury bill jg g 4 5% 1 :lpectlve]y
the standard
s What Would be the-

standard deviation of the retury
“ of Sen‘sex‘)

deviation of the stock is 219,

. (7+8)
Or

(a) What do we mean by Eff101ent Market
Hypothes1s ? Explam its various forms.-

(b) The relevant details of a compahy are-:

. Anmual tyrmover —740,00,000
o Earning Before Interest and Tax — 20%

Equity share capifal (face value .= ?1000 —%20,00,000)

C
apltal reserv ~ 5,00, OOO



9
56 5

12% e
' 1)1ef¢"cllcc share cnpitﬂl - '\'20’00’000

0 " g
10% term loang = ¥10,00,000
0y . :
12% debentures - 719,00,000

- Tax rate - 30%

| D“"dend payout - 50%
P/E ratio - 30

Find out (i) EPS (ii) Dividend per share (iii) Market
price (iv) Earning Yield and (v) Dividend yield.

- (5+10) '

(a) Is it pOSSIble to completely ellmmate rlsk‘? If yes,

specify the condltlons Also cr1t1ca11y examine the'

concept of hedging associated with it.

~(b) Consider'the following il.lf(.)'rmat'io_n ol thees

'stocks —
[ Sa ' ility of £ i :
te of Probability Rate of returns if state i
urs (©
_Economy state of economy Stock X rs (/o)

| Stocky
‘Em
-’

&&g’nal 05
| Reoe: 03

ecession




569

6

Mr. X has invested 40% each in Stock % and Y
and 20% in Stock Z. Find out the CXpected return
of the portfolio.

(c) The Net Asset Value at the time of investment by

Ms. Kiran was I12.65. The NAV per unit declines

- to T12.25 after. 30 days. In the meantime, Ms.

 Kiran recewed a cash dlvxdend of %0.50 and a

capltal gam d1str1but1on of ?0 30 Compute the
monthly return of Ms K1ran o (5+5+3)

Or . .

(a) The followin'g particulars relating to a mutual fund

are given to you:

| Manégemeht Advisory Fees . | %550 lakhs
Adinjn_i_st_rative E}épenses (including | .
Fund Manager Remuneration) | 700 lakhs |
Publicity and Documentation 2160 lakhs
k Opening NAV : o o 3216 lakhs
| Closing NAV o | %340 lakhs

Based upon the available 1nformat10n you are
require to compute the expense ratio.
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- (b) You are given the following infor™

stocks P and Q.

Stock
ER)%
* |_Variance of returns (in Sq%)

|

g =3 sq%

Covariance between the stocC

he | : ¢ individual
Calculate the optimal weights of .1nd1 dus
investme e ' lio 1S
investments such that variance Of-POIthh -
minimum;_A.lso.,' cal_culé;te the portfolio expected

return.

(c) Equity sﬁarés__of RML Ltd.: are currently selling at -
%60. The-company'. is ex'pecte.d to pay a dividend
of ¥3 in the past Yea; with a growth rate of 8% |

e e e B e e e b

forever. Find out the required rate of return for‘

investor. - | o / (5+5+5)

5. (a) _Thre‘e' months call option pfemium is 7 et al,l
exercise price of ¥50. Find‘ o.ut‘ the net payoff
calll-option. writer when thg POt price o thYQ pf
on the exercise day is ?4:7’ ?49’- & e Share'
%53. | - ' ’_?51 al‘ld .

P.T.O.
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(b) What is SCORES? Explain the procedure to lodge
complain under SCORES,

(c) Differentiate between call option and put

option, | © o (5+545)
. or

(a) An mvestor buys a put option on the stock of RIL
Ltd. at an exermse prlce of ?170 for a premium
of ¥10. The optlon can be exercise on the

~ expiration date after 3 months. The current price
of the stock is ¥165. Find out the profit/loss to the
- put opt1on holder and put optlon wrlter if the stock
price- on the explratlon date is (1) 3140 (ii) 160
-~ (iii) 180 (iv) 200 (v) 210 |

(b) Write a short. note on Insider Trading.

(10+5)
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